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Complete these: 

  4 x 7 =        28     40 x 7 =      280 

 

 5 x 3 =                50 x 3 =        

 

 3 x 4 =       30 x 4 =  

 

Answer these: 

 70 x 2 =       50 x 4 = 

  

 60 x 3 =      90 x 8 =    

       

 Answer the following: 

Raisa gave 5 notebooks to 50 children. How many notebooks did 
she give in all?  

  

 

Mark plants 20 saplings in one row. There are 8 such rows. How 

many saplings does he plant?  
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Complete these: 

  8 x 7 =      80 x 7 =       

 

 8 x 3 =               80 x 3 =      

 

 8 x 4 =       80 x 4 =  

 

Answer these: 

 30 x 2 =       10 x 4 = 

  

 90 x 3 =      50 x 8 =    

       

 Answer the following: 

Perry packs 60 packets of 6 cookies each. How many cookies did 
she pack?  

  

 

Alia had to knit 6 rows of a pattern 70 times to make a shawl. How 

many rows did she knit?  
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Complete these: 

  7 x 3 =            70 x 3 =       

 

 6 x 5 =               60 x 5 =      

 

 4 x 4 =       30 x 4 =  

 

Answer these: 

 60 x 5 =       90 x 7 = 

  

 50 x 6 =      70 x 9 =    

       

 Answer the following: 

A bakery makes 7 types of bread loaves. If it makes 40 breads 
of each type, how many bread loaves do they make in all?  

  

 

There are 60 baskets with 6 oranges each. How many oranges are 

there altogether?  

  



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

 

Complete these: 

  2 x 8 =      20 x 8 =       

 

 4 x 6 =               40 x 6 =      

 

 2 x 7 =       20 x 7 =  

 

Answer these: 

 20 x 6 =       60 x 8 = 

  

 40 x 3 =      50 x 8 =    

       

 Answer the following: 

A shoe factory makes 80 pairs of shoes each of 7 types every day. 
How many pairs of shoes does it make every day?  

  

 

 Another shoe factory makes 70 pairs of shoes each of 8 types every 

day. How many pairs of shoes does it make every day?  
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Complete these: 

  6 x 3 =      60 x 3 =       

 

 6 x 2 =               60 x 2 =      

 

 6 x 7 =       60 x 7 =  

 

Answer these: 

 80 x 6 =       70 x 9 = 

  

 70 x 4 =      80 x 2 =    

       

 Answer the following: 

A tailor needs 7 splools of cloth to stitch uniforms. Each spool has 60 
metres of cloth. How many metres of cloth does he need altogether?  

  

 

Mark wants to make 5 notebooks of 80 pages each. How many pages 

does he need?  
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Complete these: 

 2 x 6 =      20 x 6 =       

 

 2 x 3 =               20 x 3 =      

 

 5 x 3 =       50 x 3 =  

 

Answer these: 

 20 x 2 =       40 x 4 = 

  

 30 x 3 =      80 x 8 =    

       

 Answer the following: 

Yasmin has to do 3 sets of exercises for 10 minutes each. How many 
minutes does she need to exercise?   

  

 

Ijaz has to do 4 sets of exercises for 20 minutes each. How many 

minutes does he need to exercise?  
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Complete these: 

  9 x 2 =      90 x 2 =       

 

 9 x 4 =               90 x 4 =      

 

 2 x 5 =       20 x 5 =  

 

Answer these: 

 60 x 9 =       40 x 5 = 

  

 20 x 4 =      60 x 8 =    

       

 Answer the following: 

A tailor stitches 5 suits everyday for 30 days. How many suits 
did he stitch in all?  

  

Another tailor stitches 7 suits everyday for 30 days. How 

many suits did he stitch in all?  

How many more suits did the second tailor stitch?  
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Complete these: 

  5 x 6 =      50 x 6 =       

 

 6 x 4 =               60 x 4 =      

 

 7 x 1 =       70 x 1 =  

 

Answer these: 

 40 x 6 =       50 x 8 = 

  

 30 x 7 =      10 x 4 =    

       

 Answer the following: 

Ali can paint 2 rooms per day. How many rooms can he paint in 10 
days?  

  

 

5 litre of paint is used for 1 room. How much paint is used for 10 

rooms?  
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Complete these: 

  1 x 6 =      10 x 6 =       

 

 3 x 2 =               30 x 2 =      

 

 4 x 9 =       40 x 9 =  

 

Answer these: 

 80 x 4 =       30 x 4 = 

  

 50 x 7 =      50 x 8 =    

       

 Answer the following: 

Laila gives set of 2 shirts to 10 people. How many shirts did she give 
in all?  

  

 

Mark completes 30 sets of question paper with 5 questions each. 

How many questions does he complete altogether?  
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Complete these: 

  7 x 5 =      70 x 5 =       

 

 7 x 2 =               70 x 2 =      

 

 6 x 9 =       60 x 9 =  

 

Answer these: 

 10 x 9 =       30 x 7 = 

  

 20 x 8 =      40 x 6 =    

       

 Answer the following: 

Ria has 10 set of books. If each set has 10 books, how many books 
does she have in all?  

  

Raj has 20 set of books. If each set has 5 books, how many books 
does he have in all?  

 

Who has more books?  


